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| =t RN db#y
EAR=L) 0.4-0.5 -66db
4128 0.5-0.6 -64db
4150 0.6-0.7 -63db
415D 0.7-0.8 -62db
% EA 0.8-0.9 -61db
b 0.9-1.0 -60db
#5C 1.0-1.1 -59.5db
=) 1.1-1.2 -59db
(A 1.2-1.3 -58.5db
F=B 1.3-1.4 -58db
1E=C 1.4-1.5 -57dh
£2D 15-1.6 -56.5db
E2A 1.6-1.7 -56db
=B 1.7-1.9 -55dh
== [ 1.9-2.1 -54db
i =D 2.1-2.3 -53.5db
BEA 2325 -53db
BHB 2528 -52db
Bsc 2.8-3.0 -50db
== 3.0BE -48db

Sensitivity: See above (0dB=1V/ub, 1kHz)

Impedance: Low impedance
Directivity: Omnidirectional
Frequency: 50-16, 000Hz

Max. operation voltage: 9V

Standard operation voltage: 4.5V
Current consumption: Max. 0.8mA
Sensitivity reduction: Within-3dB at 3V
S/N ratio: More than 60dB

Sensitivity show melhed:

As 1pa=10ub therefore when it be pa or
ub shower, that they would be-20dB
distance between them. Eeample: -40dB
(0dB=1V/pa) be eqnivalent to -60dB

(0dB=1V/ub)
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